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The code looks a little bit daunting, but it's not that bad. Really the only part of the code that
actually does something is this part right here, where we're trying to do these three lines. The
first being, we get an input from the user that says how old are you, we're converting it to an
integer. We're going to take that number that they gave us, divide by 80. I'm assuming life
expectancy is 80, and multiply by 100 to get the percent, going around it to 1. And then I'm

going to print, you've gone through that much percent of your life.

OK, so again we're dealing with user input which is unpredictable, so we're going to catch, first
of all, a value error, and that's if the user doesn't enter a number. In that case we're going to
say, oops, you must enter a number. And then we're going to also catch the zero division error
which says print trying to do a division by 0. And otherwise, we'll have a last except that, so
something went very wrong. So looks like people are getting it right. The question being, if the
user enters 20, what does the program do? OK, so we're giving string, and strings taken in as
input and then trying to convert those to an integer gives us a value error. So it's going to go
through this except block here and print that, which is great, most of you guys are getting that

right.

And then the next one, perfect, | tricked some of you. The next one says, if the user enters
zero, what does the program do? Well what does the program do? We're going to take in
zero, we're going to do 0 times 100 divide by 80, that's fine, it's always going to be zero. We're
going around that to one, and then we're going to print that out. So no zero division error, no
value error, everything went right, so that means it's going to print out this. The first one. So
that's this one here. So the zero division error only happens when you're trying to divide

something by zero. In this case we're not, the zero's at the top of the fraction.



